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Which answer is the same expression as this

(3z—4)(7z—T7)

2822 — 49z + 3 b 49,2149, 4 28
4922 — 7 + 28 d 21,2 149,-28
€ 21224492+ 28 f o 2122-49,+28

Which answer is the same expression as this

(9¢—8)(9¢ + 6)

a 81¢2 — ¢ + 48 b s1:2-81c-148
81c? — 18¢ — 48 d  oc248c+81
€  48¢2 4 48¢—48 f 4822+ 81c+20

Which answer is the same expression as this

(3¢—6)(7c—T7)

a 212+ 63c+42 b 322142463

21c? + 63c— 42 d 212-63¢c+42

e 7¢% + 63c — 42 f 632+ 63c+42
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(4y —8)(8y + 2)

32y2 — 56y — 16 b 421169416
1632 + 16y — 16 d 44216y +32
3242 — 32y — 16 f 32y —y + 16

Which answer is the same expression as this

(9 — 4)(4x — 2)

9x2 + 8z + 34 b 34:2-8:+34
8z°— 34z + 2 d 34z% + 8z — 34
3622 — 34z + 8 f 3422 2+ 8

Which answer is the same expression as this

(9n—7)(9n + 9)

n? + 63n — 81 b s1n2-81n-63
81n2 + 81n — 63 d 81n2118n-63
81n2 + n + 63 f  63n2-63n-63

Which answer is the same expression as this

(4c—5)(Tc + 2)

4¢* + 10¢ + 10 b 102+ 28c+10
10¢? + 28¢ + 9 d 282+ 28¢-10
4¢2 - 10c + 28 f 28¢2 — 27¢ — 10
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